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01 At 2t 2l 10,000 10,000 0
O 2829423 8) 10,000
202 044l 90,000 90,000 0
01 SLHOIYI 90,000 90,000 0
O ZIUHESFEMH(OIZZSS) 90,000
405 XHobF S HI 10,000 10,000 0
01 HatH ESFH S 10,000 10,000 0
O ANMLESEHSH(IIZSE) 10,000
oll gl gl 1,811,798 1,866,800 A 55,002
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801 Gl HI bl 1,811,798 1,866,800 A 55,002
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O olglbl 1,811,798
HE2IZH (I 2 AA) 80,286 64,802 15,484
Jl2Zl(O1&2HALA!) 80,286 64,802 15,484
Jl2dul (12 AH) 80,286 64,802 15,484
201 £B-2dH| 15,366 13,502 1,864
01 At 22l 15,366 13,502 1,864
O 1. det=8Hl 7,638
—de2asR 468
== PN 15,000 » 1& = 128 180
SPNR= PN 12,000 » 2& » 128 288
— SALE X (A4) 21,000 » 708f A 1,470
—HDEHI AR 250,000 » 4CH = 33 3,000
—ZAESI EYH 200,000 » 1CH * 13 200
—SAMI ENH 100,000 = 1CH * 33l 300
— =2 A S Xl 200,000 = 1CH 200
—2Md2Z I8l 2,000
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